Maszter Physical Geography, Spatial Analvsis and GIS 2 {gend-4412)
Final tes
Wed Jan 31, 2007, 9:00 - 12:00

Please answer all gquestions. If computations are required, provide inter
medigte ateps.

| Give three advantages of kriging over inverse distance interpolation,
amd give two advantages of inverss distence interpolation over kriging,

Below is a figure with three tranzents with resl data varizbles [top mow,
left-to-right: 1, 2. 3) and thres zample varingrams (o) and models (—
| used to simulate ibe wariables (bottom row, lofi-to-right: a, b, o).
Which variogram (1, 2, 3) belongs to whick dute variable (g, b, 0)?
Explain your answer briefly.
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4. Explain the dillerences between simple kriging, ordinary kriging, uni-
virtal kniging and cokriging, in terms of the underlying mods! o as-
BUMpLicns.



4. A physical geographer is faeed with the preblem of interpolating an
sir qualily variable {the average NO2 concentration in ppea for 2006
over a tegion [the Netherlands), She chooses Lo use ordinary poiol
kriging for this, The kriging standased errors are however 2o large that
953% prediction intecvals are too wide ta be able to conclude sormething
gengihle, hased oo the maps,

n order to improve the prediciion [Le., get smaller prediclion inter-
vals), aive two distinet options for her to apply hersell, and one option
she eould give to the ageney that gave her the job to create Lhe map.

5. Given the data in the table below, compute the sample variogram for
lags 1, 2, 3 amd 4, ard draw the sampls varogram.

w-coordinale  v-coordinate  messured value

1 0 fi. &
[ | 10.5
1 2 5.6
1 3 7.0
1 4 2n
1 a B
1 i 12.4
1 i 13.6G
1 A BT
! g T8

f. & Why do we use the mle of thuml Lhat cthe sample varogram is
comnptted (with a curoff) up to one third of the spatial extent of

the data?

b Describe and draw three different variogram model types, and gve
their names.

¢ Why do we compure and model varicgrams? (answer in max. 10
lines)



7. In the example below, the kriging estimate at x is 20, This was oblained
using a spherical variogram model without mogget, with range 5 and
with sill 1. For each of the cases below, tell whether the kriging estimate
will remain egual, hecome larger or become smaller than 24
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a n spherical varogram model withoul neggel, with range 5 and
with sill &

b a spherical variogrun model withoul nogget, with range 5 and
with sill 20

&t & pure nugget model



	pag 1.JPG
	pag 2.JPG
	pag 3.JPG

